Course: SBI PO Pre
Subject: Word Problem and Wrong Series

Time:10 Minutes
Published Date: 28" April 2020

Directions (1-5): fe=ifaf@a #@er & area ug wa FfSw)

Q1.196, 168, 143, 120, 99, 80, 63
(a) 168

(b) 120

(c) 99

(d) 196

(e) 143

L1Difficulty 2

QTags Wrong Series

QCreator Paper Maker 10

Q2.6072, 1008, 200, 48, 14,5, 3
(a) 200

(b) 1008

(c) 14

(d)5

(e) 6072

L1Difficulty 2

QTags Wrong Series

QCreator Paper Maker 10

Q3.2, 6, 24, 96, 285, 568, 567
(a) 285

(b) 24

(c) 567

(d) 2

(e) 568

L1Difficulty 2

QTags Wrong Series
QCreator Paper Maker 10

Q4.258, 130, 66, 34, 18, 8, 6
()8

(b) 18

()6

(d) 130



(e) 34

L1Difficulty 2

QTags Wrong Series
QCreator Paper Maker 10

Q5.4, 10, 22, 46, 96, 190, 382
() A

(b) 10

(c) 96

(d) 382

(e) 190

L1Difficulty 2

QTags Wrong Series

QCreator Paper Maker 10

Q6. et a¥H r% THIEY TS W TF A W g Tt 81 9 ANt F, 7@ avafdw

HAUA FT k T[T g STt §1 KFT AT freem 82
(a) 10

LI

(c) 6

(d)8

(e) 12

L1Difficulty 2

QTags Compound Interest

QCreator Paper Maker 10

Q7. AR B#Y I F1 3T 8: 9 ¥ AN BH 3y, cH g 1 -fers ¥ 3R C
#T 3T, DFT I FT 9/13 §1 BHY 31 18 ¥ B, a C #ir 3y fraedt 82
(a) 36 a¥

(b) 39 a¥

()27 a¥

(d)54 a¥

(e) 62 a¥

L1Difficulty 2

QTags Ages
QCreator Paper Maker 10

Q8. TF T HT TS, U I Y 3T 3-5 HWT §1 U g 1 B, ot it som &
e g1 g @ aRfr 132 @it 31 Ifx smya & @lss 8 d+ B, @ mya @
&P fhdar &2



a) 112.4 331 a4

b) 104.2 a1 {#T

¢) 100.8 T3t @

d) FuRa =g fFar &1 gehar &
(e) SAH & FIg =Igl

L1Difficulty 2

QTags Mensuration
QCreator Paper Maker 10

(
(
(
(

Q9. U&F Ferel A 3 o IR 4 W TR g1 IR et weww Iefees w7 & I Fle,
ar 39 @ &Y 3R vF AT @ Fr wRFar F 72

(a) 3/7

(b) 18/35

(c) 5/14

(d) 4/21

(e) 7/11

L1Difficulty 2

QTags Probability

QCreator Paper Maker 10

Q10. 2rsg ‘SACRED’ & guif # fFaat ¥ alisl & =yafeyd frar oir g&ar & afe

a3t FaX uE @Iy Ae?

(a) 240

(b) 120

(c) 320

(d) 720

(e) 5040

L1Difficulty 2

QTags Permutation And Combination
QCreator Paper Maker 10

Q1l. et wcfall & e 6: 1,5: 2 3R 3: 1 & qqurad H qy IR U F wAWT
frsor 81 af wft Wegee # v wrr Bemar smar @, ar sifaw @Feor F qu o

Ul & AT fohaer grem?
(a) 64: 65

(b) 65:19

(c)19:65

(d)64:19

(e)39:17

L1Difficulty 2



QTags Mixture and allegation
QCreator Paper Maker 10

Q12. g 6 f&Al & fovw v =ufFa #r taa 3 29 TUX &, 39N 6 AT & fAvw
Ig 247 &, 39T 10 et &F v 97 32 T & 3 7d 9 & Ay A §F v 3w
30 ®v ¢ yfafee sttaa 3w sma fifew (@ Hfew i 7fger 30 e a1 ?).

(a) 31.64 TIA

(b) 30.64 TUA
(€) 29.27 T
(d) 34.27 T4
(e) 32.27 94X

L1Difficulty 2

QTags Average
QCreator Paper Maker 10

Q13. TF T¥W 60 fraAt ufr &er @ el amefl gt @ war B, AR Aw #iy awedh
0 ¥ 30 FAge i afa @ a7 a1 § IR Ay FpfHra garr 10 BFdAvger Hi
afd § aF FI@1 8. I I F SR sEh st aifa ama fiig

(a) 36 ThaT/EeT

(b) 30 fra/Eer
(c) 18 fra/Eer
(d) 24TRet/ger
(e) 28 foret/erer

L1Difficulty 2
QTags Wrong Series
QCreator Paper Maker 10

Ql4. F& UM WURT AT W 6% Tf¥F T § 3uR & 7§ f. v ¥ a1 6800
T AR gFE 7 IR A A A} 5% TF T & gFRT TALIR q@ T F=
SIS 98 ¥ F SqT FT 11/20 g, @ A9 AfGv F fraed oy 3ar & a5 412



(a) 17,000 9T
(b) 16,800 &UT
(c) 16,500 &UT
(d) 17,500 &9T

(e) 18,000 TUT

L1Difficulty 2
QTags Simple Interest
QCreator Paper Maker 10

Q15. fFdY 25 TIT gfay fFam arehl =Iruet Y frasr fFam &A=+ 30 T9© gfq fFa
arell 30 frem gue & @iy Aeer ok afe AP ae #1 30 T gfa
fRam 9T IT W 10% FT G 7

(a) 30fRarm

(b) 36Tharm
(c) 32 foramm
(d) 42 fRam
(e) 34 foramm

L1Difficulty 2
QTags Mixture and allegation
QCreator Paper Maker 10

Solutions
S1. Ans.(d)
The pattern in the series will be
195 168 143 120 59 80 63
l I I J I I J
27 25 23 21 19 17

ol Wrong term is 196

S2. Ans.(b)



The pattern should be (from RHS)
3x1+2=5

Sx2+4=14

14 x3+6=48

48«4+ 8=200

200= 5+ 10=1010

1010 =6+12=6072
Sol.

S3. Ans.(b)

The pattern in the given series should be -
*x6-6,x5-5x4-4x3-3,x2-2

- wrong term is 24
Sol.

S4. Ans.(a)

The pattern is

258 130 [T M 1
[ - I : I l I - | I -
n—+1 x—+1 n—+1 n—+1 K—+1 n—+1

2 2 2 2 2 2
- wrong term is 8.

Sol.

S5. Ans.(c)
4X2+4+2=10
10x2+2=22
22x2+2=46
46 x 2 + 2= 94 [Not 9¢]
94 x 242 =190

190 = 2+ 2 =382
Sol. g

S6. Ans.(d)
ATQ,
Let principal be Rs. P

3
— -
2p=p (1 + 100)

Cubing both side

2= [0+

:>(1+L)9=5

100
.. Principal becomes 8 times.

3

Sol.

S7. Ans.(c)



A:B=8B:9

B=18=>A=16

.-.C:18XE=2?year5
Sol. 2

S8. Ans.(c)

Let radius of circle isr cm
22
o2 XTKF= 132
= r =21 cm = side of square

~ length of rectangle = E # 21

=12.6 cm
~ Area of rectangle = 12.6 x 8
= 100.8 cm?

Sol.

S9. Ans.(b)

Required probability

_fcoxPc; 6x3

"¢, 35
18

Sol. 35

S10. Ans.(a)
Required ways
=5Ix 2!

Sol. ~ 20

S11. Ans.(b)
Total quantity of milk = :— + § + %
65
28
& that of water
1 2 1

77771
_ 19
- 28

~ Required ratio=65: 19
Sol.

S12. Ans.(c)



Average income per day
_6X29+6X244+10X32+8X30

30
= Rs.29.27
Sol.
S13. Ans.(d)
Let total distance =d km
d
~ Average speed = i+i . T
120 ° 120 ° 40
= 24 km/hr
Sol.
S14. Ans.(a)

Let Rs. P amount was lent out.
Px6x1 _ &P

5. L for first year =

100 100
(%—58[}{}) X5X1
S.Lfor second year =
100
ATQ,
106P
(W—ﬁﬂﬂ{})XS_ll 6P

= % —
100 20 100
= 106P - 680000 = 66P

Sol. = P=17,000

S15. Ans.(b)



C.P. of mixture of tea

100
=30 x —

110
300 /i
= ——rupee
11 P g

According to law of mixture

tea 1 tea 2

25\@/3{!
31]// ; \25

11 11

teal 30 6
“tea2 25 5 .
. Quantity of teal = 5 * 30

= 36 kg
Sol.



